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Lg

D 2.000m
D35 20

p As/A 688.752/314159 2.19%

—

As D35 36 <2 0.566><36><2 344.376><2 688.752 cm?
2 71/4>=<200%> 31415.9 cm?

A TU4><D

D22 150ctc
pPs (4 A)/(s d) (4><11.613)/(30><170) 0.911%
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C1-5(1)

Lg khc
Tr khc

—

Ay D22(
s 30cm

150ctc 300ctc) 3.871>=3 11.613 cm? (30cm

30cm

d 170cm

Gck 2
SD345

7 N/mm?
Oy 345 N/mm?

Rq 2466 kN (251.2 ton)

Lg Wy 3652 kN (372 .2ton)
Tr Wy 2466 kN (251.2 ton)
El
T 0.33(sec) T 0.35(sec)
K( PJS,)
T 0.55(sec) T 0.57(sec)
T 0.59(sec) T 0.67(sec)
CKno 0.85 1.75
Cs
0.52 0.68
0.54 0.72
W, 372.2ton C1-5(1) 65
Ry 125.6ton 1 =<2 251.2ton C1-5(1)
o, 1.07Mpa C1-5(1) 0.95Mpa
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